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Z� ��[ �:
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�� ��D,E� P�& ����& \��T <
]�%
^��& �_ &  `�
�� 81 %!"��
��a��1 
�1 0b !
c$ "�* 
^���� ���� d= �/�A��1 e�[$ >��7 �O�M� f��^E� J& ����]�,-� f�
c `�6����$ . �LZ$
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O�� hO�4$ ���1E� Kc$4 J* �:
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1 P ��6���� ���W
�� d=$ J& ���
�� ��+�^�� z"��$ +�3�,-� S]� X���-� P �/
O�& ����6� ��c�
� $4 �:
Y� ��k�
!"���� . +�"6� 
�b �-�� {���$30  dB0�
��� |
���� <$! 
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 ��:�+ {:n
� >�c
�� y�
.4 J& ��
�* {Y1 ���� ��/��& 2�* �a���C |"�)Rayleigh (V��:
6� .$�$�U��  S�6�� V��3W
 �LT %�x��� ��*�O6�� ���:n
��� �O�
���|
b4 d= �6O�& J& ���1E�$ +��^E�$ y?��� {:n
�$ �/�3W$ X�U�+� ~�� >

|
bE� `W��Z�$.  

���C
�� ��6���� �-���-� %!
� S]N��� P �����
�� `&�
��� "�4 �T ������ !"��& +���,-� ����b$ .�/ >V�:!�&$ <
 ���� y
. g+�/$ X���-�$ %!"���� ������ !"* V���A ��� ������ !"��& +���,-� ����b)
b���� (!$+
�� �:$�n$ .

%+"6�� 
b��� �,��� 
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/ `:
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�
��� {:n
��� �-�! !��� �x��� S�j� ���W)CDF .( ���6�� g
. "�4 0�
��� S�N�� ���W�
��� {:n
��� ���! �Ox�$
+��&E� ��k& d= ��
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O�� J& !"* J& ����� ��,����� �*
�q '����$

& �k�1$ ������ �:+�Y��� `��C J& >����O���� �k���� `�3s V?&�^ $4 g�O��� >��
�$ u���� `b�! %��W �
_$ �a���
A$ <"
$�&  e�[ d=.  

�Ob �
���& ��^
� �C
�� {& %
w�x�& ��Ob %��C �	$ J]s$ . %+�^= J* ��, X
�q ��^
�� �LT �
b z
�$
�&$ ��wT
&$ %
b�& `b"�� V�:
�1$! ���} .,���4 �a��= +��: G�� 
b���� 
�1$! ":"� ���"1 %��6�� `�3� � V����"1
������  . �LT `3�$

���"���%+"6�� �/�3W$ 
�1$! !!
�$ 
b����  ��U� ��?3�� !��1E�1 ������ !"�� %
T�¡  . �	�b %+
�1 �x���� �LT S�?�$
�&��:! �
���& ��^
& `]^ P !����� %�W�¢ Q�6#.  
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��%!"���� ������ ������� .������ ������  ��/ %+"6� hc
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��� 
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 %+"6�� 
b��� �,��� 
aD��� y$E� 5}���1 2O�:$ ��6�� ��
b����)��Y���� �1����-� X���� {1
&.(  

 ������ ������ �������)r.m.s.(  
Tb����  ��/ %+"6� hc
�� z+����� ��
R-� u�3�� 5}���1 2O�:$ ��
 �,��� 
aD���
%+"6�� 
b��� .
b���� 0�
�& 
w�x� ���1�6� V����6& 
/
: 
T$.  

������ �!"�#� %+"6�� 
b��� �,��� 
aD�� J& 0�
��� S�6�� y
. �T z
� zL�� ����& �:
k& ���, )%90V%!�*  ( `�q J&
��Y���� �1����-� e�� P %!
c
�� %+"6��.  

�:$ �£
������ $��" X���� �a�/ n$���: %
& y$4 d= <���� <����� 
b����  ��/ G��C 81 ��Y���� �1����-� y
. K,4 2�* 
�¤$! 0�a: %
& 
b¥$ >����& ���* ��Y���� �1����-� .���6�� ��}�a��� �&��:"�� |"�� 2�* �������� ������ �C
��$ : {6�$

 +�"6� ��O���� ���6��20 dB
b���� �,��� 
aD��� %$+L�� |
��& <$! .  

 �£
�:$�%����� &�'# *�� ��!!
��� g�O, K,4 2�*  zL��g
/ `6��� ���"� ¦�L�� 01�
��� ���! K�/ {6�  ����$ B����& ���*
 ������ ��O§ ���C0,5.  
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f�A
Y�� ¨!E� |
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b��� ���,��� 
T�D�� J&  $4 u��
 ��O�
�& `3s zL�� %+"6�� 
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�� ���,��� 
T�D�� J& $4 >�& <�]& P `�6���� ���� "�* �a��* `��� G�� �C
��
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# |"� �a��* `��� ��,�]& ��O�
�& $4 �O�M� �k���� P �W
j� `3s .* ��3&4 !
�$��  `]��� P 5"6�1 "C$ >
%�x	 ����^ ��W
& �O��
1 �a��* `��� .W
�� �,�W �&"�* 2O�
�� ���,��� 
T�D�� 2�* `��N/ 2�* `���$ >��1�� ��

\
N�� ��W
�� �,�W �&"�* |
bE� ���,��� 
T�D�� G*
�q . J& !"* y?b J& ��O�
��� �O§ I��� �x��:$
 ���&}�� %"�� K,4 2�* �w
��� %��6�� e������ `&�]��� �C$ J�A ��Y���� ��1����-�)u�]�� `	�U�� $4 ( \
N�� © i��

"���� ������ ��,
]& +�"6� %!+ ��, �,�b 
b��  �&n)|"�� �,�b $4.(  
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� ���� � ������ ������ ������� 	������� � ������ �!"�� ��#��$� �%����

 &'�(��)UMTS ( +�'��� ,-.��� /��0),-.��� 1��$� �2��� (.��� /��3� +�4�� ,-
)&5-6�� 7�86� � ��#��$� �%���� .( ����: ��#���� ������ �;�<: =�>� ��?.�' ��#��$� �%�����
�  τ . @.��' �!"
 &A�; B�;6� ,C� D?�#E�20 dB.  

$345.�� 36�'�� >P
m

�T ��Y���� �1����?� >:  

  ∫
3

0

d)( = 

t

t

m
ttPP (1)  

����� ��	
�� ��
� (μs) 

���
� ���� ���
� ����

�� ��
������ ��	
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i��:  
P(t) : ���?� %+"6�� �/�3W��Y���� �1�  

t : �&n {c
� ������1 
b����  
t0:  �a�/ n$���� G�� �DN���P(t)%
& y$E {O6�� |
��&   
t3:  �a�/ n$���� G�� �DN���P(t)%
& 
b� {O6�� |
��& .  

 >
b���� 0�
�& 2O�:$TD%+"6�� 
b��� �,��� 
aD��� y$E� 5}���1 >:  

  aD
e

e

P

P

T τ−

ττ

τττ

=

∫

∫
τ

τ

0

0

d)(

d)(

 (2a) 

  

i��:  
τ:   z$��:$ �&n 
b��  ��/ 
w�x�&t − t0  

τa :  �C$  %!"���� ������ J& `r�6��& <w
]& y$4 !$+$)�,��� 
aD�� P d$E� %$+L�� (  
τe = t3  ¬ t0.  

 ��!���� h��� >`�U��� `]��� P$)2a:(  

  MN

i

i

N

i

ii

D

P

P

T τ−
τ

ττ
=

∑

∑

=

=

1

1

)(

)(

 )2b(  

 i��i = 1$ N�l  %�bE�$ d$E� ������ J* <�
^�&$ >@�
��� 2�* >������ |
��& g
/ 
b���� �,��� 
aD�� P M 
T 
 %!"���� ������ J& `r�6���� y$E� <
]��)�,��� 
aD�� P d$E� %$+L��.(  

������� �C?��� J& ��
b���� ":"# J]s$:  
ii rt 3.3)s( =μ  km 

 i��ri�� �W�* d= `�
�� J& ��/���� X
�q 
T  J& �/���� `�q 
T $4 >`�6���� d= �W���� J&$ >%!"���� ����
 `�6���� d= `�
���  tLOS.  

+Lc �£
�:$   {�1
��� 0�
�&)r.m.s. (u�3�� z}W
�� 5}��� ���1
��� +L��1 
b���� !�"�&-:  

  
∑

∑

=

=

τ

ττ−−τ
=

N

i

i

N

i

iMDi

P

PT

S

1

1

2

)(

)()(

  (3)  
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������ ��	
� � �
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∑

∑

=

=

τ

ττ−−τ
=

N

i

i

N

i

iMDi

P

PT

S

1

1

2

)(

)()(

  )4(  

 �����
� ������Wq ����
� ����
 ����� ����� �! "#�$� %&�
� '*+ ,- �.*/ .�
� �0�12! 03*4! 05&� q016�
� ����
� �! �:  
 Wq  =  (t2  –  t1) (5)  

 7��8� 9;�23 <1=t1� t20
>�2��? :  

  ∫∫
3

01

100
d)(

100
d)(

t

t

m

t

t

P
q

=ttP 
q

=ttP
2

 (6)  

3��&�! �3�@A BC �����
� D��� 0E�@
� %&��F� G
m
P

q
⎟
⎠

⎞
⎜
⎝

⎛ −
200

100.  

 �����
� �I�� 9J�23�Ith 0�K6
� G? L!M
� N���
� O�
 P6Q �t4 0�12! 05�Q ����
� ����
 ����� ����� R�&F� S��T�3 �!��Q 
Pth 0�K6
�� ���! '�$ t5�U�$� ��V6
 05�2
� W6F 7�> "5�3 �!��Q :  

  Ith = (t5 – t4)  (7)  
X�
 O13�*� �3*Y ��*3� Z��
� ["?���
� 01\5�
� 0?�T�#]� ���E 0��C( f )���
� 0
��
 :  

  ∫
e
τ

 f  j–   τP= fC

0

τd)τπ2(exp)()(  (8)  

 7�1&3� ���E ��)Rician( 0
>�2�� �J��F �(8)"?���
� N�@� ^�Q �3��F �  . ^�Q �;��3 7
 _�*��
� W6F �X! � N>$��
�K3̀ a
� �Q�5��� >>��
� "?��F 0
�> �! "?���
� N�@� "?���
� �!�2! b�&c �!M
� d! ��J1e��� ���2�� ���
� 0
�> �! ��16Q �

03>>��
� _��Q�5�� f6�g�.  
 "?���
� N�@� ^�Q 9;�23�Bx O1� .��&3 .�
� >>��
� O�
 P6Q  Z��
� "?���
�|C( f )| 05&� %x �! C( f = 0).  

 h&�
 ���F ���*�? _���15
� �16Y �i
 �! PI*3�%50� %75� %90 �-����! _�5�2
 ���F �I�*�?� �����
� �! 9� 12 
�15 dB 05&�
 "?��F N�@� ^�2?� ����
� 7�> %50� %90"?���
� �!  . j�k*\
� _�Ul�F 7
 BC ���Am� ��n�

 o���
� � 0161�@
� _���Am��)_���15
� 0��2! p= 03*3>��
� _�>>��
� �! (q��i �U5r 7*�F 7
 ��s . �! �t �!� 7
 %���
� j�k*\
� 05�Q >u�Y/ w!�- �g�3̀ 7
� 0V��$� � 0E�? 0161�@
� _���Am� �
 0!x&
�W
y N*� . 7�!z
 w!�{ PI*3�

 }��E3 dB ~����
� 0!x# 7�V\
 . �qxX! �0161�@
� ���Am� BC ���Am� ���y 05&�
 �>$� �8� 7*�3 7�? PI*3�15 dB 
) �
�5
� 7�!$� w!�- ��Q3 dB(_�j��=m� � 01\5�
� 0?�T�#]� D��>C �5E '*5E ��12Vr W
y �V2�&3̀ 7
� �.  

 ��	
� � >�3�2_�K6@��� }�- �2? '�V2�#� �Q '�X! .  
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����� ��	
� ��
� ��������

�� �
����� �����  : ���	
�� ��!
� "#��$%W90 ��&
'� �%90 ������ �� 

 (�)�
� (�*+�, ()� (- ��.��
/��)t1 

&t2( ���	
�� 23
! 4��& �I15 5+! ��
67� 8+9 8��� �
 ;+
/�15  dB (- �&���� <&* t4& t5 . >?�&t0 & t3 @*A� �'� 5+! ��
B� ����� ��
C& ����- DE 
F
G+H��.  

	
�� ��3  
	�
� �
���� ������ ����� �	
�� ����������� ����� ��! �"����� #�$��� #
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3  ������ �	
	� �
����� �	�����  

1.3  %&�
�'  

1� >�3�V �>�2��� _�U&�� _�Ul��
 ,���=m� fI*6
 05#���� _�V62�� f3��2F ,63:  
 ������� 	
���� �

��-, _�-�n] 0Ki��� ����
� "#*�!  ����
� �� f1@
 B�$� 0�K6
�? ���Q �23� 0&1��� >��*
�

)����6
 .��M
� ����� ����� q�\3
 ��16Q �6@3 7
 ��s�.(  
������� �
���� ����� ������V&
� 03*# ���> ����6
 03��M
� 01I��� *- /01��$� 03*&
�.  

��� ������� !"#�$ %���& �
����.��12�� 9���]� *-  ���V6
 01��X
� 0�K6
�? O�Q �23� >��*
� }�n] 0Ki��� ����6
 

����6
 .��M
� ����� .>��*
� 03��S "#*�! � Ue�6
 q�#�1�! ,@23 *-�.  
 �

���� ��'�(��
 0E�@
� �! 0��2! 0�12! 03*4! 05&� P6Q .*��� ����6
 .��M
� ����� ���V6
 "#�$� jM�� ^�Q ,-

�� 01
��m�����6
 .��M
� ����� ����� W
y ��1E � �>*i*.  
 9�2F� �

���� ���)��)�
�
���� �*�+��� (  01\5�
� 0?�T�#]� ^�Q ���?).��M
� ����� ����� ^�Q �
 ( }�n] G�V1E G?

>��*
� .� 0�12! 05�Q .��M
� ����� ����� R�&F� ��1� S��T�3 a
� B�$� 03��M
� >�Y ,-� 0V1E ��1� ��F a
� �U�$� 03��M
�
05�2
� }�- �Q R�&F]� .��1�
� S��� ,!��3�
� ���� P6Q 0!�g�&�� 05�2
� �V�2F� : 01iy*V�
� 0V1�
� �65FdB 20 �Y 

.��M
� ����� ���V6
 ����
� 03*#.  

2.3  �()
��  

C �>�2��� _�U&�� _�Ul��
 ,���=m� fI*6
 05#���� _�V62�� b�&= ��s�!  �! �
 ����6
 01�8 03��S 015��i �-��! �!
���� 063*+ �
 �U�E 0E�@6
 03��S 015��i �-��! .C 0V1�
� }�- �X���!  7*�3 �!��Q ��16Q ��K��� 01�!M
� _�@#*���

�K�
� �X�� q����&! ��5��&��0r�= 0
�= � ��5��&�� 7*�3 �!��Q 06�K��� 01����� _�@#*��� �
 �0415
� � �.  
r��V  ��	
� G534 015���� �-��V6
 ����� "#*��� b�&c ����6
 ���� �U�E 03��M
� 015���� �-���� P6Q '*�8� %�3 �

�
� �i
 �! 0i*�� '�*+
 _��	Q d\? �Q ����6
 01�K6
� 03��M
� P6Q '*�8� %�3� �d3�&
� �*5�� � Ue�
� P6Q j�\
 ��� �! �y*��! ����6
 ���� �U�E 03��S 015��i �-��� ����� "#*��� b�&c ����6
 ���� 063*+ 03��M
� 015���� �-����

�! q�53��F 0��&�� ��Q��
� 0@� (BS)hT8� �Q %i��
� Ue�
� P6Q j�\�
� �i
 �! .  
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�� ��4  
����*� �&+�,�� ���	
�� �-
��� %&��'  

1407-04

 

  
1.2.3  ���
./� �)
0��  

}�n]� � 065��&�� ����
� ^��? θ ,- P(θ).  
 7�� �"��,-� �.����P0 05�2
� 03*# N*� ����
� ���? 9�2F .��M
� ����� ���V6
 �L0

 j�k*\
�� ���Am� G? ���F a
� �
r�V  ��	
� � G5! *-5:  

∫
θ

θ

θθ=
3

0

d)(0 PP  (9a) 

<1=:  
θ:   01#�#$� ���Am� }�n� �! .����
� �3���
�? ���F)��1�
� ���� ���> ����&! 7*�F 7
 ^���3(  

P(θ):   05�2
� 03*# N*� .��M
� ����� ����� ���EL0 03*&
� ��#
 ����
� 7C <1= �L0 �0 = P(θ) 

L0:  - d! 03*# G2! w!�) 7*�3 7�? PI*3dB 3(j�k*\
� 01k�
 N*�   
θ0:   S��T�F �!��Q >��*
� 03��S ,-P(θ) � B�$� ��V6
  05�2
� 03*# ),( ππ−θ

max
  

θ3:   S��T�F �!��Q >��*
� 03��S ,-P(θ) 05�2
� 03*# L0 � �U�$� ��V6
 ),( ππ−θ
max

   
 �>����� ��*�
� �5�F� 0
>�2V6
(9a)���
� *K�
� P6Q :  

∑
=

θ=
N

i

iPP

1

0 )(
 (9b)  

 <1=i = 1 �N� � ��*�
� P6Q �05�2
� 03*# N*� 7�2�F 7��6
� ����6
 .��M
� ����� �����? �U�$�� B�$� G��12
� �VE�:  

������(m) 

������(m)

��
�
��
�

 

�	
��� �
	�� 

������ ����
������� 

������ ����
������� 

�	
��� �
	��

	
��� �
	���

 �	���� ����� �����
����� !
"�#� 

�	���� ����� �����
$%&� !'() !
"�#� 

�	���� ����� �����
$%&� �#
�* !
"�#� 
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�� ��5  
���
./� �)
0��  

1407-05

L
0

?0 ?2 ?3

  
2.2.3  �� �&+�123���� "+��  

 �"#*��� >��*
� 03��S
 
T
A

�����6
 .��M
� ����� ���V6
 B�$� 0�K6
�? ���Q �;523̀ :  

∫
θ

θ

θθθ=
3

0

d)(
1

0

P
P

TA (10a) 

 0
>�2V6
 �>����� ��*�
� �5�F�(10a)���
� *K�
� P6Q :  

∑

∑

=

=

θ

θθ
=

N

i

i

N

i

ii

A

P

P

T

1

1

)(

)(

  (10b) 

 <1=i = 1� N �VE� ��*�
� P6Q �05�2
� 03*# N*� 7�2�F 7��6
� ����6
 .��M
� ����� �����? �U�$�� B�$� G��J12
�:  

3.2.3  �45  6�7�' 23���(r.m.s)8+�,�� �
(�	9�   

 .��M
� ��	��]� d1?�F ��i "#*�! 9;�23̀SA���
� *K�
� P6Q >��*
� }�n] :  

∫
θ

θ

θθ−θ=
3

0

d)()(
1 2

0

PT
P

S AA (11a) 

 �5�F� 0
>�2V6
 �>����� ��*�
�(11a)���
� *K�
� P6Q :  

∑

∑

=

=

θ

θ−θ
=

N

i

i

N

i

iAi

A

P

PT

S

1

1

2

)(

)()(

 (11b) 

<1= i = 1 �N ��*�
� P6Q �05�2
� 03*# N*� 7�2�F 7��6
� ����6
 .��M
� ����� ���V6
 �U�$�� B�$� G��J12
� �VE� ��.  

������ �	��
)��
���� �	������( 

��
�
��
�

 

θ0 θ1 θ2                  θ3
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4.2.3  �&+�,�� �4!
���  

 03��M
� �����
�θw$� jM�� ^�Q ,-  ����6
 .��M
� ����� ���V6
 "#�.*�/ .�
�03*4! 05&� P6Q  q 01
��m� ����
� �! 
 ��	
� � �k*�� *K�
� P6Q6:  

12 www
θ−θ=θ  (12) 

 7�J�8� 9�23 <1=θw1� θw2  ���
� *K�
� P6Q:  

0
100

d)(
100

d)(
3

0

2

1

P
q

P
q

P
w

w

=θθ=θθ ∫∫
θ

θ

θ

θ

 (13) 

3��&�! �3
Mi BC �����
� D��� 0E�@
� %&��F� G0
200

100
P

q
⎟
⎠

⎞
⎜
⎝

⎛ −.  

	
�� ��6  
�&+�,�� �4!
���  

1407-06

L
0

  
5.2.3   �&+�,�� ���;��)�=
����8+�,�� (  

 03��M
� ����
� 9J�2F̀Ath � 03��M
� G? .��M
� N��
� ���?θ4  B�$� ��V6
 ����6
 .��M
� ����� ����� R�&F� S��T�3 �!��Q
12! 05�Q 0�Lth 03��M
�� θ5r �U�$� ��V6
 05�2
� }�- �Q R�&F]� ��3 �!��Q �V  ��	
� � G5! *-7:  

45 θ−θ=thA (14) 

	
�� ��7  
�&+�,�� ���;��  

1407-07

L
0

L
th
(  )≥ L

0

  

������ �	��
)��
���� �	������( 

��
�
��
�

������ �	��
)��
���� �	������( 

��
�
��
�
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6.2.3  ?

�� 27����� �!
��  

 _�i�g�� �>�2�!� _x���� �>�2�! _�*��6
 05&�
�?(MIMO) ����� "?���
� �!�2! P6Q ��K�3 ��*��� Oi� P6Q 
 0�6�� _��Q�5�
d ����6
 .��M
� ����� ���V6
 q�3��S �Ue��� ���2�� ���
� 0
�> �! . ����� "?���
� �!�2! >�/�R(d) P6Q �

���
� *K�
�:  

∫

∫
θ

θ

θ

θ

θθ

θλθπθ

=
3

0

3

0

d)(

d)/sind2exp(–)(

)(

P

jP

dR (15)  

<1=:  
d: ��&���� _��Q�5�
 05&�
�? 00�6  

λ: Oi*�� '*+.  
r��V  ��	
� G538�� "?���
� 0��&! 7�� ���� dc  �-��Q .��&3 a
� B�$� d@�
� 0��&! ���? 9;�2F̀|R(d)|  05&�
�%x�  

|R(d=0)|.  
100/)0(/)( xRdR

c
= (16)  

	
�� ��8 

�� 27����� �!
��?

  

  
7.2.3  
@ A���� #
B*���  

 _����
 03��M
� ���*�
� �V&F 7�? PI*3%50� %75� %90 �-��E _�5�2
 03��M
� _����
� W
�r� �9� 12� dB 15 
 }��E "?���
 "?��F _���&!� �����
� ��#
%50 � %90_���156
 ���! �16K�? � . ���Am� �1��� �! �W
y P6Q ��xQ�

Ul�F 7
 BC o���
� � 01	!��� _���Am�� j�k*\
� _�)_���1? BC 03*3>�� _�>>�F �! 0��2�� �! ( �U5r 7*�F 7
 ��s
q��i .� j�k*\
� 05�Q �3�Y %��� �! O��� �t �!�/ w!�- ^�� d! 0�1E> ��*�? 0V��z
 01	!��� _���Am� 05�Q �
7�!
 

�V�E*� . w!�{ PI*3̀�7�!
 }��E dB 37�V\
�  ���Am� BC ����
� 05&� �! �>
 �= o��g�#�? PI*3̀ ~����
� 0!x# 
 }��E 01	!���dB 15 qxX! ) w!�- >�25�#� d! 7�!$� �
�5
�dB 3 ( 0�V\��� 03��M
� 015���� �-���� �! �/ ,���X�#� ��12Vr
_�1���=m� � . ��	
� G53�905&�
 �>$� �8� 0V1E �3�Y Ul��
 q]�X!  BC ����
� Lth

 

(ΔL) . 7
 ��	
� ��- � ^���3̀�
�x?] d3S*F ��A P6Q ����6
 ����� ����� (La place)) D�>M! ,�#�
 d3S*F(. ����  .��S ��	��� d! 14 %�3� �0i�> 

������ ��	
�(d/λ) 

 �
���

���
 �

	

�	

R
(d
)
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 BC ����
� ���y 05&�
� � G�
��r 03��M
� ����
�� .��M
� ��	��]� b�&=Lth .}�- 7
 %E�
� ��- G53� ^�2�F _�V62�� 
��#$� � 06l�V��� %1�6
 05&�
�? p= 0Kk�� _�Ue�
 . 0!�g�&�� 0V1�
� �3�Y h¡ O�
 �1? 
(ΔL),���=m� %11��
� � .  

	
�� ��9  
 CD �+�E ����� F"G� �H� $I��� J
K�Lth (ΔL)  

1407-09

Laplace distribution (STD of 14°)

20

15

10

5

0

200

150

100

0

50

0 10 20 30 40 50

  
  

 �����2 

1  ������  

�� ��- �k*3 _�2# P6Q "?���
� _x!�2! Ul�F� ����6
 .��S ���i ���! �! "?���
� _x!�2! b�&= ~���� �2? �K6
 _�i�g�� �>�2�! _x���� �>�2�! _�*��
�(MIMO).  

2  �	
�� ���
��� ���	�� �	��  

 0
>�2�� � >��*
� f3�2�
� o��g�#� ¢(15) �K6��? 1����� "?���
� b�&8  .�- o��3� �k*3� 0T1��
� ������? �K6�� �
,��*�� �Q�5�? "?���
� �l��3 f1r.  

 ��	
� G53�10 ����
� �� f1@
 �x?] ��A P6Q b�	! ,iy*£ d3S*F (PAS)�X! :  

   ( ) [ ] [ ]{ }∑
=

ϕΔ+ϕ−ϕε−ϕΔ−ϕ−ϕε
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡

σ
ϕ−ϕ

−
σ

=ϕ
c

N

k

kkkk

kL

k

kL

kL

L

Q
PAS

1

,0,0
,

,0

,

,
)()(

2
exp

2
 (17) 

 <1=ε(ϕ)� 01i�> 0
�> �Q ���5Q Nc �_�Q*V¤� >�Q ϕ0,k
 

 0Q*VTV6
 0@#*��� ¥*�&
� 03��Sk-th� σL,K.��M
� ��	��]�  .
 9�23�PAS �Q [ϕ0 – Δϕ,ϕ0 + Δϕ] .���
� *K�
� P6Q ����
� 03*&F ¥�A ^���3�:  

∑
=

=
⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

σ
ϕΔ−−

c
N

k kL

k
kLQ

1 ,
, 1

2
exp1  (18) 

�� �����	 �
�� �
��(dB) Lth

 �
��

��
� �

�	

��

�
)



��

��
���

(
 

 �
��

��
�� 

��
��

��
)



��

��
���

(
 

��� � �����) ���� ������ !	"#��°14(  
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�� ��10  
	
���� 
� ���� ���� ��� ��� ���� �!�" #$%�& 

1407-10

–200

1

0.9

–150 –100 –50 0 50 100 150 200

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0

  
 ��� ��� �	
��
 �����
 �� ������
��
 ���� ���!��" #$"% ]90,90[,30

0

oo +−∈ϕ°=AS 
 &
' ��
��
 () *�' +, �-)°90+ �./
0�
 &
' ����
 ���1 �23 4/��5 ���1 �6 °90-. 

0e1�
� �! 9xe
� "?��F �!�2! ~���&3̀�:  
2

)()()( DjRDRD XYXXe +=ρ (19) 

<1=:  
D=  2πd/λ  
d:  ,��*�� ��Q�5!  
λ:  �0i*�� '*+  

�3� '>�5��� "?���
� a
�> �3�Y %RXX(D)�  RXY(D) 0
>�2�� �! (16) }xQ
 .  
��	
� �k*3� 11~F��
� ����� "?���
� .  

 �
��

��
�

)
�	


�

(
 

ϕ) ��������(
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�� ��11  
 '��(���)*�+�,&*-��   

1407-11

1

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0
54.543.532.521.510.50

  
 �

��
 �8���
 ����1 9$:�
 ;"
<5 �=�>= =d/λ��
 ���
��
 ���� ���!��"  ��@�
 A �!�10. 

3   ������� 	
��
� ������ 	
��
� ������� ���� ��� ����
�� ������ ����(MIMO) 

 ��Q ����
� 9��2! 7��? _�i�g�� �>�2�! _x���� �>�2�! _�*��6
 01E�@
� 02&
� 7�� �,63�� *5� _�*��
 05&�
�?
7*�F �#���:  

   ( )
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

σ
+=

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

σ
+= H

R

H

wTw

T

n

H

R

H

wTwR

T

n
RHRH

n

P
IRHRHR

n

P
IC

RR 22

2/12/1

22 detlogdetlog
 (20)  

<1=:  
  nR �nT:  ��*�
� P6Q ��¦#���� ��5��&�� _�1��*- >��Q
  

  P:  06#��� ����
� ���C  
  

Rn
I:   03*- 0�*��!n

R
× n

R
  

  (⋅)H�det(⋅):  ��3�K�
�� 0�!��� ��16VQ ��*�
� P6Q  
  Hw: � 0QS*! 06��&! 01��*	Q _�Ue�! �! 7*��F �-�I��Q 0�*��! ��A P6Q q�16l�,#*§ ��2! 

��=*
� }��E _���F �!�2!� ��I }��E "#*�!  
  (⋅)½: 0�*��� a1!��� ,21?��
� ����.  
 7���*���� >�Y� RR� RT 0�*���� 9;�2F̀ <1= ���*�
� P6Q �_x#���� _x5��&�� G? 01����� _�@?���
� H  0e1�
�?

 01
��
�2/12/12/1
, RTwR RRHRH = �2/1

TR  G��*��! �Q ���5QG�1!�- G�5i*! GF>�� . ^���3 O��� 03���
� ��
���
� *K�
� P6Q �V��3*&F :[RR] j,j for j = 1,K,nR and [RT] i,i for i = 1,K,nT.  

������ ��	���(d/λ)

�
�

��
� 
�

��	
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 7
 ^��?�RR�  RT 7
� 06!��
� 05F�
� �V� nR = nT = n�Q j�k*k BC ���AC 05&� ��Q O��� ��
 � 02&
� h3��F ��s 01

���
� *K�
� P6Q:  

 

( ) ( )TR
H
ww

T

RRHH

n

P
C detlogdetlogdetlog 2222 ++

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

σ
≈  (21) 

 01F��
� %1�
� BC ���A
 �y��RR =λ
i

 �i = 1,K,n  7�� ��
 �∑ = =λn

i i
n

1
 . ¨�&8� "#*��� G? .��&�
� o�Q 0ExQ �!�

,#���� "#*����:  

∏
=

≤λ
n

i

i

1

1  (22) 

7C <1=� :( ) ∏
=

λ=
n

i

iRR

1

det 7
 L23 ���� �log2 det(RR) ≤ 0 01F��
� %1�
� �r ���r �yC "�� ��I 7*�3� 
 RR 

 7*�F 7
 ©2  �03��&�!RR = In . '*�8� ��s� _�i�g�� �>�2�! _x���� �>�2�! _�*��
� 02# >�/ "?���
� 7�� ���

 01E�@
� 02&
� � ���
� P6Q 0e1�
�? 01
�Q j�k*k BC ���AC 05&� ��Q(log2 det(RR) + log2 det(RT)) bit/s/Hz.  

��	
� �k*3�12  7*�3 �!��Q _�i�g�� �>�2�! _x���� �>�2�! ����
 01E�@
� 02&
� P6Q ����� "?���
� Ul�F nR
 

=
 

nT
 

=
 

2 .
 7
 ��	
� � ^���3�RT = I2 .5��&�� "?��F 0�*��! ��1��� %�3�0e1�
� ��#
 P6Q �:  

⎥⎦

⎤
⎢⎣

⎡
ρ

ρ=
1

1
*

R

R

R
R

 (23) 

 <1=ρR06�5��&�� _�1��*�� G? ����� "?���
� BC U	F .  

	
�� ��12  
���� �����	
��� 
���� ������� ����� �� ��  

1407-12

6420 12108 181614 20

10

8

6

4

2

0

12

ρ
r
 = 0

ρ
r
 = 0.95  

__________  

������� 	
 ���
�� ����(dB)

 �
��
��

�� 
�	



��

(b
it
/s
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